S X0

Ha: GIATHOHM Y L 2T INAMI(ZELXN A NS /TS

& otEEd MAA KA (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z

Xl == 1t 76,151,299 67,342,799 8,808,500
= 14,549,000 20,842,000 A 6,293,000
< 61,602,299 46,500,799 15,101,500
?fEXHﬁHW@ L XY XM= ELXNANL /=X 76,119,436 67,310,936 8,808,500
= 14,549,000 20,842,000 A 6,293,000
=) 61,570,436 46,468,936 15,101,500
ot & MAHAA M 52,799,636 39,127,636 13,672,000
NS FH (E&)(HEAIY) 2,905,000 0 2,905,000
401 Al& I 28I 2,905,000 0 2,905,000
01 A& HI 2,700,000 0 2,700,000
Odgd XeotdIBI(HE) 2,700,000 0 2,700,000
02 Zeltl 200,000 0 200,000
odgd Xgotd Y (&E) 200,000 0 200,000
03 AIE 2 THHI 5,000 0 5,000
Odgd XeotdIBI(HE) 5,000 0 5,000
KNLotE U (A )(HSAY) 3,355,000 0 3,355,000
401 Al B2 28I 3,355,000 0 3,355,000
01 A& HI 3,000,000 0 3,000,000
oadd XYgstdAH (HE) 3,000,000 0 3,000,000
02 Zeltl 350,000 0 350,000
oaYd XYotaFU (&E 350,000 0 350,000
03 Al S THHI 5,000 0 5,000
oOadYd XYgstdFH (HE) 5,000 0 5,000
NeLotEFE (DA MelXR)(MEAY) 806,000 0 806,000
401 AIEHI L 20 806,000 0 806,000
01 A& HI 800,000 0 800,000
OnZ& AelX2 XgstaHY (e 800,000 0 800,000
03 AIE 2 0HHI 6,000 0 6,000
ORNZA MelXl7 XLotEHY (X E) 6,000 0 6,000
NeotE Y (=& AHA ) (HEALY) 606,000 0 606,000
401 Al HI 2 2B 606,000 0 606,000
01 A& HI 600,000 0 600,000
OQ=A COIHMXZ? XLotEHY (XN a) 600,000 0 600,000
03 Al 2 THHI 6,000 0 6,000
OQ=d M T XLotA | (&E) 6,000 0 6,000
Kot H Yl (& ool &) (& 2HANY ) 26,084,736 20,084,736 6,000,000
403 UHXSHHS =0l & 26,084,736 20,084,736 6,000,000
01 XM A=2E X 26,084,736 20,084,736 6,000,000




SM: XD
Mo SETMHY L X NNMD(RELX AL /SR 2
Sel: BHEEE HMAE (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
on=a NZotaZu(da 2,000,000 0 2,000,000
OEFE SN NYsEIH (M) 5,600,000 3,600, 000 2,000,000
OZYH XYotEIH (HE) 3,000,000 1,000,000 2,000,000
AXE MXHMD 2 el st 23,319,800 28,183,300 14,863,500
= 14,549,000 20,842,000 6,293,000
< 8,770,800 7,341,300 1,429,500
Sta el Szt 4,795,200 3,635,700 1,159,500
403 RXSHSK=01H 4,508,000 3,348,500 1,159,500
01 RtXI AR 22 X 4,508,000 3,348,500 1,159,500
OXYstaE FH 2,437,500 1,878,000 559,500
OMBHTHHl XIZoHE o = Xt A S 1,970,500 1,470,500 500,000
OZOIA XYotd Il 100,000 0 100,000
2B ERNE (2 2) 5,068,000 11,091,000 16,023,000
= 4,798,000 11,091,000 6,293,000
< 270,000 0 270,000
403 RXSHSK=0IH 5,068,000 11,091,000 6,023,000
= 4,798,000 11,091,000 6,293,000
< 270,000 0 270,000
RS PEES 5,068,000 11,091,000 26,023,000
O=JH5tE R4 5,068,000 11,091,000 6,023,000
=2 4,798,000 11,091,000 16,293,000
< 270,000 0 270,000






